ĐỀ THI SINH HỌC BẰNG TIẾNG ANH.

I.Trắc nghiệm.

1) How many pairs of chromosomes do you have? 

A. 23            B. 33        C. 43       D. 53 

2) What is the shape of DNA?
A. A trapezoid                  B. A hexagon                 C. A double helix

3) What are the building blocks of your tissues, organs, and organ systems?

  A. genes                    B. atoms                    C. cells
	4) A phenotypic ratio of 3:1 in the offspring of a mating of two organisms heterozygous for a single trait is expected when:
	


A. the alleles segregate during meiosis. 

B. each allele contains two mutations. 

C. the alleles are identical. 

D. the alleles are incompletely dominant. 

E. only recessive traits are scored.
 5) A genetic cross between two F1-hybrid pea plants for spherical seeds will yield what percent spherical-seeded plants in the F2 generation? (Recall, spherical-shaped seeds are dominant over dented seeds.)
A. 100%            B. 75%            C. 50%             D. 25%            E. 0% 

6)Use the following sentence to answer questions 17-20

When crossing two parents body ... .. (I) ... different about a pair ... (II) ... .. the contrast is the F1 hybrid ... .. (III) ... .. the characteristics of potassium or parental and in F2 there is a separation of traits with approx.

Numbers (I) are:

A. pure B. same species C. any other D. species

verse 18

No. (II) is:

A. dominant     B. dominant B.    C. characteristic.     D. diving characteristics

Numbers (III) are:

A. there are differences                            B. the same series

C. show similarities and differences         D. there is separation

Numbers (IV) are:

A. 50% dominant: 50% diving          

B.7 5% dominant: 25% diving

C. 25% excl.: 50% intermediate: 25% l         

D.25% intermediate: 50% accuracy: 25% diving

7) Relation .... (I) ... is the hybrid used to test ... (II) ... .. of a dominant body that is pure or pure type. The dominant should be checked hybrid with the body ... (III)

Numbers (I) are:

A. one pair                    B. trait analysis

C. two pairs of traits      D. one pair or two pairs of traits

No. (II) is:

A. genotype       B. phenotype         C. genetic pair      D. genetic factor

Numbers (III) are:

A. genotype is not pure

B. pure genotype

C. dive characteristics

D. diving characteristics and dominant characteristics

8) Perform the hybridization P: AABB x aabb. The pure genotypes revealed in the F2 crosses are:

A. AABB and AAbb B. AABB and aaBB

C. AABB, AAbb and AAa D. AABB, AAbb, aaBB and aabb

9)  Hybridism is considered to be a hybrid of two pairs of traits:

A. AaBb x aabb B. P: AaBb x AABB

C. AaBb x AAbb D. P: AaBb x aaBB

10) During the integral, the most visible form of chromosome in the period:

A. Intermediate     B. Beginning     C. Middle between      D. Next

II. Tự luận.

   What is the variation of the leaves of the tree due to changes in habitat? Distinguishing common variables and mutations?

 Đáp án:

I.Trắc nghiệm:

	Câu
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	ĐA
	A
	C
	A
	D
	B
	A
	C
	B
	B
	B
	A
	C
	A
	A
	C


II. Tự luận:

- The leaves change in size when the environment changes so that they adapt to the environment. (0.25 vnd)

	Thường biến
	
	Đột biến

	- Only change the phenotype, not change the genetic material.

- Due to the direct impact of habitat.

- Can not be passed on to the next generation.

- Help individuals adapt to changing environmental conditions.

- Not a source of material for breeding and evolution
	0,25

0,25

0,25

0,25

0,25
	- Genetic changes (DNA, chromosome) lead to phenotypic changes.

Due to the impact of external environment or metabolic disorders of the environment.

- Genetics for later generations.

- Most harm to the organism itself.

- A source of material for breeding and evolution.
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